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‘Describe the effect of the changes on each equilibrium.

ZIC](g) <> Iz(g) + C12(g) AH = +
a. increase volume ANC

b. decrease temperature <—

C. increase partial pressure of L ¢—

d. effect of c. on Cly, concentration ¥

Ny + Oy <-—> 2NOy aH=-
a. éfecrease volume NC

b. increase temperature <——

¢. increase partial pressure of O, y —>
d. effect of c. on Ny, concentration 4

302(g) <> 203(3) AH = -

a. decrease volume ——>

b. increase temperature €——

¢. increase partial pressure of Oz(g)——a
d. effect of c. on Oz, concentration A

a. increase volume —>

b. decrease temperature <——

c. increase partial pressure of NOz(g)éﬁ—
d. effect of c. on NOy, concentration 3
2Hy,y + 2NOyy <-—-> Nz(gﬂ‘& 2H,0,
a. decrease volume —>

b. increase temperature &——

C. increase partial pressure of &, - N

d. effect of c. onﬁ(g) concentration A
T (q)

NO :
2B13+(aq) -+ 3st(g) <L -> Ble3(s) + 6H+(aq) AH = -

increase volume <—

. increase [H*] (decrease pH) «——
add more Bi,S; nNC

.add NaOH ____ 5

feo o

CaCO3(S) L > CaO(S) + COz(g) AH =+

a. decrease volume <——

b. add Ar y at constant volume N<¢

c. add Ar(g) at constant pressure —>
d. add a catalyst p
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10.

11.

12.

13.

14.

a. add more water NC s idnints doas 0o 0%
b. increase pressure by changing volume <——-

c. add more Ca(‘/z(s) NC A=

ot

d. heat up the mixture

C6H6(l) + Brz(l)
a. add more C¢HsBry «——

L2 C6H5Bl'(l) + HBr(g)

b. decrease pressure by changing volume ——>*

c. increase the temperature —>
d. add a catalyst Mc

2
Cuy + 2Ag+(aq) <--—--> Cu +(aq) + 2Agg

a. add more Cu, ~c

b. add some HC] «——

c. add some Cu(NO3); «——
d. add more Ag, ~c

T

AH = +

a. increase the part1a1 pressure of NOgyee
b. decrease the temperature

c. add Ne, at constant pressure _—

d. add Ne(g) at constant volume ~C

H2(g) + /202(g) < e > HZO(I) AH = -
a. add H201 NC =
b. decrease the partial pressure of Oy <«
c. increase the temperature &——

d. decrease the volume —>

CO(g) + l/202(g) <> COz(g) AH = -
a. add COz(g) &

b. decrease the partial pressure of Oy~
c. increase the temperature <
d. decrease the volume —>

Lg + Chg <-—> 21Cl,, aH = -
a.%add Cly,,

b. decrease the partial pressure of Ly <
c. increase the temperature &——

d. decrease the volume NC
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